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General Instructions:
1. All questions are compulsory.

M.M. 90

2. The question paper consists of 34 questions divided into four sections A, B, C and D. Section A
comprises of 8 questions of 1 mark each, Section B comprises of 6 questions of 2 marks each. Section
C comprises of 10 questions of 3 marks each and Section D comprises of 10 questions of 4 marks

each.

3. Question numbers 1 to 8 in Section A are multiple choice questions where you are to select on

correct option out of the given four.

4. There is no overall choice. However, internal choice has been provided in 1 question of two marks, 3
questions of three marks each and 2 questions of four marks each. You have to attempt only one of

the alternatives in all such questions.
Use of calculator is not permitted.

\n

6. An additional 15 minutes time has been allotted to read this question paper only.

SECTION A

[1] If the system of liner equations x - ky =2 and 3x + 2y =-5 has a unique solution, then the value of k is:-

[a] k=§ [b] k¢-§ [c]k:% [d] k¢_§

[2] If tan@ = 2 then the value of ﬂis -
zlt 5 14+cos6 )
l-;  [bl [c] 1 [dl

[3] If sin3x = cos[x—260] and 3x is an actual angle, then the value of x is :-
[a] 29° [b]26° [c]29° [d]13°

[4] If x=23x3 x5, y=22x33 ,then HCF [x, y] is :-
[a] 12 [b]108 [c]6 [d]36

[5] If a positive integer p is divided by 3, then the remainder can be:-
[a]lor3 [b]1,2 or3 [c]0,10r2 [d]20r3

[6] If the given figure, the value of tanP — cotRis:-
[a]l [b]O [c] -1 [d] 2

[7] Construction of a cumulative frequency table is useful in determining the :-
[a]Mean [b] Median  [c] Mode [d]All the above

[8]In the given figure, if ZA= /D= 900, AD=6cm, CD = 8cm and BC =26cm then
ar(AABC) is :-

[a]240cm? [b]48cm?  [c]120? [d]260cm?

6cm

10 cm
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SECTION-B
[9]Find the value of p and q in the given figure, if ABCD is a rectangle 3p+q 7

[10]If ¢ and % are the zeroes of the polynomial p(x) = 4x’— 2x + k — 4, then find the value of k

Or
Divide the polynomial p(x) =5 — 3x +3x°— x> by g(X) = x*- x +1 and find the quotient and remainder

[11] Without actually performing the long division, state whether % will have a terminating or non-
terminating, repeating decimal expansion

cos35°  2sind
sin550  cos(900 —@)
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[12]Find the value of k, if =ZE

Visit: www.uecj4u.hpage.co.in

[13] ABC is right angle triangle with ZABC =90°, BD_LAC, DM _LBC, and DN_LAB. prove that
DM? = DN X BC.

4

a1

[14] The following table gives production yield per hectare of wheat of 100 farms of village:-

Production 25-35 35-45 45-55 55-65 65-75 75-85
(in kg/hec)
No.of farms 4 6 10 26 35 19

Write the above distribution to a more than type distribution.

SECTION - C

[15] Prove that 7T\his irrational.
Or
Prove that (16-5v7)is irrational.

[16] If one diagonal of a trapezium divides the other diagonal in the ratio 1:2 . Prove that one of the
parallel sides is double the other?

sin6 . sin@

[17] Prove that:

cot@+cosecd - cotb—cosech

[18] The sum of the numerator and denominator, of a fraction is 8. If 3 is added to both the numerator and
the denominator, the fraction become %. Find the fraction.

Or
Seven times a two digit number is equal to 4 times the number obtained by reversing the order of its
digits. If the difference of digit is 3, find the number.

[19] If one zero of the polynomial p(x) = 3x%-8x+2k+1 is seven times of other, then find the zeores and the
value ofk.

[20] If sin@ +sin®0+sin®0 =1, prove that cos®0-4cos’0 + 8 cos’0 = 4.
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[21]Find the mean of the following data, using step-deviation method:-  Visit: www.uecj4u.hpage.co.in
Class 0-20 20-40 40-60 60-80 80-100 100-120
Interval
Frequency 7 8 12 10 8 5
Or
Class Interval 0-20 20-40 40-60 60-80 80-100
Frequency 17 28 32 o] 19

If the mean of the above data is 50, then find the value of p?

2sin?6-1
sin6 cosb

[22] Prove that tanf-cotf=

[23] InA ABC, if AD is the median, then show that AB?+AC?=2[AD? + BD?].

[24] Find the median of the following data:

Class- 10-20 20-30 30-40 40-50 50-60 60-70 70-80

interval

Frequency 12 30 34 65 46 25 18
SECTION-D

[25] Prove that, if a line is drawn parallel to one side of a triangle, to intersect the other two sides in
distinct points the other two sides are divided into the same ratio.

Or
Prove that in a right triangle the square of the hypotenus is equal to the sum of the square of the other
two sides?

2

2
[26] If x=a sinf , y=b tan@ .prove that z—z 2 =1.

2

[27] On dividing 3> +4x°+5x-13 by a polynomial g(x), the quotient and remainder are 3x+10 and 16x+43
respectively, Find the polynomial g(x).

[

28] The fraction become %,if 2 is added to both the numerator and the denominator. If 3 is added to both

. . 5 . .
the numerator and the denominator, it becomes pe Find the fraction.

[29] The following table shows the ages of the patients admitted in a hospital during a year:

AGE(in 5-15 15-25 25-35 35-45 45-55 55-65
years)

No. of 6 11 21 23 14 5
patients

Find the mode and mean of the data given above.

[30] The perpendicular from A on the side BC of the AABC intersects BC at D such that DB=3CD Prove that
2AB? = 2AC? + BC?.

[31] Draw the graph of following eq":-

2x+3y =12 and x-y =1

Shade the region between the two lines and x — axis. Also, determine the vertices of the triangle so
formed.
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[32]Prove that: > — n 9= Sin9 +C059 - -Exugangin3'51ndenl= Emp_cweringpa:enu :
1‘“1"Or sind-cos Visit: www.uecj4u.hpage.co.in
Evaluate: sin?0+sin?(90°-0) 3 cot?30°sin?54%sec?36°

3(sec2619—cot2299  2(cosec? 659—-tan2259)

[33] In a sports meet, the number of players in Football, Hockey and Athletics are 48,60,132, respectively.
Find the minimum number of room required, if in each room the same number of player are to be seated
and all of them being in the same sports ?

[34] The following distribution gives the daily income of 65 workers of a factory :-

Daily income 100-120 120 - 140 140 -160 160- 180 180- 200
(in Rs)
No. of worker 14 16 10 16 9

Convert the distribution above to a more than type cumulative frequency distribution and draw its ogive.
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